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Boats and Streams Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk
Mains, IBPS Clerk Mains & LIC AAO Exams.

Direction: Read the following questions carefully and choose the right answer.

1. Ratio between speed of boat in still water to speed of stream is 5 : 2. If 224 km is
travelled by downstream in 4 hours then find the difference between speed of boat in
still water and speed of stream?

A. 24 km/hr B. 22 km/hr C. 28 km/hr D. 26 km/hr E. 30 km/hr

2. If the upstream speed of a boat is 50% less than the downstream speed of the boat
and if a object is thrown in the river it covers 100m in 50 sec, then how much distance
boat can cover in still water in 5 hours?

A. 900 km B. 100 km C. 120 km D. 108 km E. 105 km

3. A steamer can go 12 km in still water in 25 minutes. One day, it went 11.25 km
upstream and returned the same distance in downstream. If the difference between
the time taken to travel upstream and downstream was 12.5 minutes, then what was
the speed of stream in km per hour?

A.7.2 B.5.4 C.6.3 D.4.5 E. None of these

4. The ratio of speed of A and B in still water is 3 : 2. A and B start from the same point in
the river, A goes upstream and B goes downstream. After 3 hours the stream stops
flowing and A starts rowing in the opposite direction to meet B. How much time after
the stream stops flowing does A meet B?

A. 16 hrs B. 15 hrs C.12 hrs D. 18 hrs E. None of these

5. A boat goes a certain distance upstream and comes back downstream to the starting
point in 144 min. If the speed of the boat in still water becomes 66.67% of the original,
time taken for the same journey will be 224 min. What is the ratio of the speed of
boat in still water and speed of current?

A.7:1 B.6:1 C.5:3 D.7:2 E. None of these




6. The speed of current is 5 km/h. What will be the respective downstream speed and
upstream speed of a boy rowing a boat, if one third of the distance covered going
downstream in a certain time is equal to the distance covered going upstream in the
same time.

A. 15 kmph, 5 kmph B. 20 kmph, 10kmph C. 18 kmph, 8 kmph D. 24 kmph, 14 kmph E. None of these

1. There are 3 points P, Q and R in a straight line, such that point Q is equidistant from
points P and R. A man can swim from point P to R downstream in 24 hours and from Q
to P upstream in 16 hours. Find the ratio of speed of man in still water to speed of
stream?

A.5:1 B.6:1 C.5:3 D.7:1 E. None of these

8. Rohit can row a boat 65Km upstream and 130Km downstream in 23 hours, whereas he
can swim 45Km upstream and 104Km downstream in 17 hours. Find the speed of boat
in still water and the speed of stream.

A. 4km/h, 9km/h B. 8km/h, 5km/h C. 9km/h, 4km/h D. 5km/h, 8km/h E. 10km/h, 3km/h

9. If the ratio of the speed of a boat in upstream and the speed of the stream is 8 : 1. If
the boat can travel 500 km downstream in 20 hours then find the total distance
travelled by the boat in still water in the same time?

A. 425 km B. 459 km C. 441 km D. 450 km E. None of these

10. The ratio of the time taken by a boat to go a certain distance upstream and return
downstream halfway of the same distance is 18 : 5. If the speed of stream is 4km/h
what is the distance covered by the boat in 6 hours in downstream and 8 hours in
upstream?

A. 192 km B. 188 km C. 208 km D. 175 km E. None of these

11. Two boats A and B start from two points P and Q respectively in a river along the flow
of river. Boat A has speed 10 kmph and goes downstream to reach Q while B has
speed 12 kmph and goes upstream to reach P. If ratio of time A and B took is 5:6, find
the ratio of time taken by A and B for the return trip.

A.6:5 B.7:4 C.7:3 D.8:5 E.9:7

12. A boat goes 360 km upstream and returns to the same point in 35 hours. If the speed
of current is 3km/h, how much distance boat will cover in still water in 6 hours?

A. 126 km B. 144 km C.114 km D. 132 km E. None of these




13. Engine of a steamer is off and it is in the middle of a river at point P. It flows with river
and reach to a point Q in an hour. The person in the steamer then starts the engine
and travels it back to P in half an hour. Find the ratio of still water speed of the
steamer and the stream speed of the river.

A.3:1 B.1:2 C.1:3 D.2:1 E.2:3

14. The time taken by a boat to go a certain distance downstream is 33.33% less than that
taken during upstream. If the still water speed of the boat decreases by 40%, it will
take 2 hrs more to travel a distance of 30km. How much distance will it cover in 5hrs
going downstream?

A.36 km B. 48 km C. 60 km D. 45 km E.72 km

15. A ferry takes 96 minutes to row to place P, from another place P, along the stream.
The distance between place P; and place P, is 19.2 km. If the speed of the ferry in still
water is four times more than that of the stream, then how much distance will the
ferry cover in 5.2 hours against the stream?

A.38.4 km B.41.6 km C.55.5km D. 60 km E. None of these

16. Speed of the stream is 12 km/h and speed of boat in still water is 20 km/h. A boat
takes a total of 36 hours for travelling downstream from Point X to Point Y and coming
back to point Z which is midway of point X and Y. What is the distance between X and
Y?

A. 384 km B. 396 km C.352 km D. 288 km E. None of these

17. In downstream, two steamers A and B start simultaneously from the point P but the
steamer B reaches point Q, 2 hours before the steamer A reaches the same point. If
the distance between point P and Q is 120 km and the speed of steamer B in upstream
is 3 km per hour more than that of steamer B in upstream and the speed of stream is 2
km per hour, then find the sum of the speed of steamer A in still water and that of
steamer B in still water?

A. 21 km per hour B. 20 km per hour C. 23 km per hour D. 27 km per hour E. None of these

18. Time taken by a boatman to travel (x + 40) km downstream and (x — 40) km upstream
is 20 hours. The downstream speed is 50% more than the upstream speed. If boatman
can travel (x + 40) km in 12 hours in still water, then find the value of x.

A. 140 B. 160 C.180 D. 200 E. 240




19. The ratio of the speed of a boat in still water to the speed of stream is 7 : 3. Aman
goes 40km upstream in 2 hrs. How much time will he take to go 70 km downstream
and come back same distance upstream?

A. 4 hrs 45 min. B. 4 hrs. 55 min. C. 4 hrs. 54 min. D. 4 hrs. 40 min. E. None of these

20. Jayrows a boat 216 km upstream and rows same distance downstream in a total of 30
hrs without any break. The speed in downstream is 20% more than the speed of boat
in still water and the speed in upstream is 66.67% of the downstream speed. What is
the speed of boat in still water?

A. 21 km/h B. 14 km/h C.15km/h D. 18 km/h E. None of these

21. A man sitting in a boat at point A at one end of river wants to go to the just opposite
point B across the river. He starts rowing in the perpendicular direction of flow of river
from point A to reach point B but because of the flow of river reaches a point C, which
is somewhere to the right of point B. From point C he again starts rowing back to the
opposite side in perpendicular direction of flow of river and reaches a point D. The
distance between A and D is 42 m and speed of boat in still water and speed of current
are in the ratio 7 : 3. What is the width of the river?

A.84m B.42 m C.49m D.77 m E. None of these

22. Boat A in still water with speed of 12 kmph starts from a fixed point in a river. After 12
minutes, boat B left the same point to catch boat-A. Both are moving in upstream
direction and speed of stream is 2 kmph. Boat-B catches boat-A after chasing for 6 km.
What is the Speed of boat-B?

A. 14 kmph B. 17 kmph C. 20 kmph D. 21 kmph E. None of these

23. A boat goes downstream and reaches a fixed point in a river in 40 minutes, turns back
and again sails upstream to reach the starting point. The speed of stream is constant
all the time and is 1/5 times the speed of the boat. By what percent the speed of the
boat should be increased in upstream so that it takes same time to reach the starting
point as it took in downstream?

A. 10% B. 20% C.30% D. 40% E. None of these

24. A boat starts from a point, goes upstream to some distance and returns back
downstream at its initial position in 4 hours such that the time taken for the upstream
journey was 2 hours more than the downstream journey. What was the total distance
it travelled if speed of the boat in still water was 4kmph?

A. 8 km B. 12 km C. 15 km D. 18 km E. None of these




25. Two boats A and B have speeds 10 kmph and 14 kmph respectively in still water. Boat
A is at point-P and boat B is at point-Q in a river. They start moving simultaneously to
meet each other at some point such that boat A is going downstream while B is going
upstream. They meet at the mid point of P and Q after sailing for equal number of
hour(s). Find the speed of the stream:

A. 2 kmph B. 4 kmph C. Data insufficient  D. 6 kmph E. None of these

26. A boat goes upstream a distance 24 km and while returning to the initial point in the
river it decreases its speed such that it took same time downstream that it took
upstream. If the speed of stream was 3 kmph, then what was the difference of the
boat’s speed in still water when it was going upstream and downstream?

A. 3 kmph B. 8 kmph C. Data insufficient D. 6 kmph E. None of these

27. A motorboat goes 48 km of upstream and comes back to its starting point in 15 hrs. if
the speed of the boat in still water is 66.66% more than that of the speed of the
stream. If boat had travelled only in upstream for 15 hours then find how much
distance it would have travelled?

A. 240 km B. 225 km C. 180 km D. 165 km E. None of these

28. The speed of boat downstream and upstream is 30 km/hr and 18 km/hr respectively.
Time taken to travel a distance of (x + 40) km downstream and (y + 60) km upstream is
42 hours, and time taken to travel (x + 40) km upstream and (y + 60) km downstream
is 38 hours. Find the time taken by the boat to travel a distance [(x+y)/2] km upstream
with speed 100/3% more than the normal stream speed.

A. 16 hours B. 21 hours C. 25 hours D. 30 hours E. 36 hours

29. A boat goes 204 km upstream and 266 km downstream in 13 hrs, when the speed of
stream is 2 km/h. What will be the distance (in km) covered by boat going
downstream for 8 hrs when the speed of stream is 3 km/h?

A. 340 B. 336 C.312 D. 296 E. None of these

30. Speed of the boat in still water is 8 kmph and speed of the stream is 2 kmph. The boat
is rowing in downstream after travelling a certain distance, the speed of the stream
increases by 2 kmph, and hence the boat reaches the destination earlier by 10
minutes. If the distance that the boat covered is 15 km, then after travelling how
much distance did the speed of the stream change?

A. 4.5 km B. 5.5 km C.3 km D. 4 km E.5 km




31. The ratio of time taken by Hunny and Bunny to swim a certain distance downstream in
a river is 3:4 respectively. The time taken by Bunny to cover a certain distance
upstream is 50% more than the time taken by him to cover the same distance
downstream. What is ratio of speed of Hunny to that of Bunny?

A.7:6 B.5:7 C.7:5 D.6:7 E. None of these

32. The speed of boat A is 2 km/hr less than the speed of boat B. The time taken by boat A
to cover a distance of 20 Km downstream is 30 min more than the time taken by B to
cover the same distance downstream. If the speed of the current is one-third of the
speed of boat A, what is the speed of boat B?

A. 9 kmph B. 8 kmph C. 7 kmph D. 6 kmph E. None of these

33. A boat goes to a place 60 km distant and comes back in 35 hours. If it takes equal time
to row 4 km with the stream that it takes to row 3 km against the stream. Find the
average of the speed in still water and speed in stream?

A.3 km/h B. 1.5 km/h C.2 km/h D. 2.5 km/h E. None of these

34. A boat running upstream takes 10 hours to cover a certain distance, while it takes 6
hours 40 minutes to cover the same distance running downstream. What is the ratio
between the speed of the boat in upstream to the speed of the boat in still water
respectively?

A.5:3 B.3:5 C.5:4 D.4:5 E. None of these

35. Speed of boat in still water is x km/hr and the speed of the stream is y km/hr. It can
cover 52 km downstream and 35 km upstream in 9 hours. Find the value of y if the
boat can cover 63 km upstream and 78 km downstream in 15 hours

A. 13 kmph B. 10 kmph C. 7 kmph D. 6 kmph E. None of these

36. A fisherman swims to catch fishes and he on an average travelled around 40 km
against the current and 64 km with the current in 6 hours. Also at the same time he
can cover 80 km against the current and 96 km with the current together in 11 hours.
Determine the speed with which the current is flowing?

A. 10 km/hr B. 21 km/hr C.32 km/hr D. 11 km/hr E. None of these




37. The speed of boat P and Q is 40km/h and ‘x’km/h respectively. The speed of stream A
and stream B is ‘yY’km/h and 20km/h respectively. The total taken by boat P to cover
450 km upstream and the same distance downstream in stream A is 24 hours and the
total time taken by boat Q to cover 320 km upstream and 320 km downstream in
stream B is 12 hours. Find the value of x + y?

A. 90 km/hr B. 70 km/hr C. 20 km/hr D. 15 km/hr E. None of these

38. Arriver is flowing at the speed of 2 km/hr. Boat A is running from point X to point Y
against the river and B is moving from point Y to point X in the direction of flow of the
river. The speed of boat A in still water is 14 km/hr and the ratio of the speed of boat
A while travelling upstream to speed of boat B while travelling downstream in the
river is 3 : 4 respectively. Boat A and Boat B start from their respective sources
simultaneously but after 4 hours 24 minutes due to technical problem speed of boat B
reduces by 25%. If both cases cross each other in 6 hours from the start then, find the
distance between X and Y.

A. 161.6 km B. 178.2 km C.164.4 km D.171.8 km E. None of these

39. The distance between two points on a river is D km. A man rowing a boat along the
stream finds that the distance of rowing along the stream is 30 times the total
distance and when he started rowing against the stream the distance he rowed was
found 4 times of total distance. The total time taken against the stream is 10% more
than that along the stream. If the boat cover 135 km along the stream in 9 hours.
What is the speed of stream?

A.3 km/h B. 3.25 km/h C.3.5km/h D. 2.5 km/h E. None of these

40. A boat goes 80km upstream and then 200km downstream in 13hrs. The speed of the
stream in upstream travel is 4km/h and in downstream it is 5km/h. How much
distance boat will cover in 7 hrs in still water?

A. 147 km B. 105 km C. 210 km D. 140 km E. None of these

41. The ratio of speed of A and B in still water is 5 : 7. If A and B both start from the same
point simultaneously and travel downstream, the distance between them 4 hours
later will be 24 km. What will be the distance between them after 6 hours, when they
travel in opposite directions simultaneously from the same point in still water?

A. 216 km B. 180 km C. 240 km D. 210 km E. None of these




42. A boat goes 288 km downstream and 352 upstream in 34 hrs. The speed of current is
20% of the still water speed of boat. How much distance boat will travel in 8hrs in still
water?

A. 168 km B. 160 km C. 144 km D. 176 km E. None of these

43. The speed of motorboat in still water is 35 km/hr. It takes 6 hours to go 180 km
upstream. Find the time taken by the motorboat to return the same distance.

A. 3.5 hours B. 2.5 hours C. 4 hours D. 4.5 hours E. None of these

44. A man rows to a place 46 km distance and back in 11 hours 30 minutes. He found that
he can row 5 km with the stream in the same time as he can row 4 km against the
stream. Find the rate of the stream.

A. 0.6 km/hrs. B. 0.7 km/hrs. C. 0.8 km/hrs. D. 0.9 km/hrs. E. None of these

45, Two motorboats A, and B started simultaneously travel towards each other from the
point X and point Y in upstream and downstream respectively and meet each other in
15 hours. The speed of the motorboat A in still water is twice of the speed of the
motorboat B in still water. What is the distance between point X and point Y? (It is
given that the difference between the speed of motorboat A in still water and the
speed of the motorboat B in still water is 15 km per hour)

A. 630 km B. 650 km C. 675 km D. 700 km E. None of these

46. Radha can row upstream at 20 km/hr and downstream at 24 km/hr. Find the average
of Radha’s rate in still water and rate of the current.

A. 11 km/hr B. 14 km/hr C. 16 km/hr D. 12 km/hr E. 18 km/hr

47. A man can row 30 km downstream in 3 hours 45 minutes and 11 km upstream in 2
hours 12 minutes. What is the difference between the speed of the man in still water
and the speed of the stream ?

A. 6 km/h B. 8 km/h C.5km/h D. 7 km/h E. 4.5 km/h

48. Two boats A and B are travelling towards each other from points P and Q, respectively in
a river in which water flows from P to Q at a speed of 4 km/hr. The speed of boat A in still
water is 10 km less than the speed of boat B in still water and the distance between point
P and point Q is 259 km. Both start at the same time and the boat B meets boat A 133 km
away from point Q. Find the time taken by both boats to meet each other.

A. 3.5 hours B. 4 hours C. 2.5 hours D. 3 hours E. 5 hours




49. A boat can travel 9.6 km upstream in 36 min. If speed of the water current is 20% of
the speed of the boat in upstream, then how much time will the boat take to travel
24.64 km downstream?

A. 1.5 hours B. 1.2 hours C. 2.4 hours D. 1.1 hours E. 3.2 hours

50. A boat can travel from point A to point B and return back to point A in 9 hours. Speed
of the boat in still water is 8 km/h and the speed of the stream is 4 km/h. Find the
distance between A and B.

A. 18 km B. 27 km C.36 km D. 45 km E. None of these
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1. ond gl & ara & aifd iR urT & a1fd & e 1 HUIT 5: 2 ¥ I URT & @Y 224 mHe
1 gl 4 ° H qF Y S &, AT el F Aa & afd HR urn & afd & d= w3
AT HI?

A. 24 mA/ger B. 22 mpA/ger C. 28 mpa/ger D. 26 mERHAI/EET E. 30 mpd/ger

2. Ifc arT & EWRT Arg & afd 9T & TGy JAad & afd T 50% FH T AR T FA B TS
IS g 50 @cbs H 100 X & gl T Ao &, o 5 8¢ H A el H g Fhclell gl
AT ool &2

A. 900 ER&AT B. 100 mraT C. 120 o D. 108 EraAT E. 105 ora

3. TUh T 25 Hac F W Uil H 12 mraAY ST Thar & T fd, I 11.25 mhAT URT &Y

EOdT feRm & T R 3@ gt @ URT v faem # amw 3 | Ffe unr dhr mudia fewr &
IR grT A G F A I H T IS AT d A BT HR 12.5 AE AT, O BT ufa g
#H UrT HT fa =T A7
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¢ 3R dfcT 0= ofd @ e arer o1 8| afe sad 3iaa 3mg 41 @ ar e 9, afd qur
afcd & Mg BT AT FAT BIIM?

A. 16 T B. 15 ©¢ C. 12 ¢ D. 18 ©¢ E. 38 & Pl el

5. TH @ 144 HeAc F 9T b HWIG Th ARET gl db Sl § 3R unr & fer ammw
&I g o¥ et 1 IfE oiq ueh F arg & afq gRmes afd &1 66.67% o S ¥,
38T AT & MU BT -7 JAT 224 [HAC TN AT Ul & Jra @ aifd iR urr & afa &
3UT T §7?

A 7:1 B.6:1 C.5:3 D.7:2 E. 38 & P15 Al

6. U1 yare & A 5 mRA/EET ¥ AT TN §U ASF H FFIRT IRT FAE & Y TAT HIEY
I @ gl I 3HS AR T fARaT AT F 9N ydTe b WY TF H gt 1 v fders
HITT 3d & §AT H URT UdTe & EIGY I I =0T gt & aer ¢ |

A. 15 st ufad ger, 5 mrelt ufad ger B. 20 mraT ufa =er, 10 mrer ufa ger
C. 18 mralT ufa der, 8 ErelY Ufa =er D. 24 mraY gfad ger, 14 mhpa ufa ger
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7. AN @ A NT RGP, QIRR ST UPR § I Q g P dar R ¥ FH gl W
Teh cgidd fdg P & fig R ol aRvae & | 24 8¢ & dur g Q ¥ g P a®
YNYaTE & EReY 16 8¢ #H X Wehdl | AT STl H e &l afd AT URT &l i &l
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10. TH a9 @RI URT & HIA U BARE g db S IR GURT & Ay 3@ gt & 3 #
diedl & MU B I FHY B IUT 18 1 5 ¥ I Gry v afd 4 mhel / wer & A Uy
& |Y 6 °e AR 9N &b EURIT 8 U H A G@NT aF H IS g AT 87

A. 192 FpHAT B. 188 T C. 208 AT D. 175 mra E. 31 & P15 Al

11. o &g A 3R B a1 g3t P 3iR Q @ oA a& & Yaig & Ay Th A1 & Tolell Y&
Eh‘((—ﬁ%lHﬂAEﬁWﬁWEﬂﬂﬂt@fﬁﬂ%ﬁTQHﬂ?uguﬁaﬁmu‘ETITraEHTQIGIT(-ﬁ%
aamﬁBzﬁrvrﬁrmmmﬁuﬁrda%aﬂTPazﬁu@?ra?mwa%maﬁﬁ%luﬁ
A 3R B & GHI &1 Ul 5: 6 &, al aqdl Irm & [T A 3R B E@RT [FU T HAG &l
U AT DT

A.6:5 B.7:4 C.7:3 D.8:5 E.9:7

12. 35 €9¢ & Us A9 360 Thell URT & EWIT ST & 3R 34 fdg W elled 81 afe arr &
I 3 ERAN/EET §, ol AT AT Ul 3 6 B¢ H Ehclell gdl dF HLaf?
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13 KM A STAREIMNTRGP W e af F i & ¥ 7w 78 & TF Tt ¥ 3R
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Y O H 38 a9d P dF ol &1 TR BT el & afd 3R a8 & arr Fr afa
T IFUTT AT BT

A 3:1 B.1:2 C.1:3 D.2:1 E.2:3

14. 91 & 4y U ARG gt 9 I@ & ©U Jd ORI HAT -7 AT 9N & EHold JaF
1 I AN & g F A IR BT AT AT ¥ 33.33% HA Tl ARG AT Ul A @
M 40% HA A ST ¢, AR 30 DRl Y gl dT FA F 3q 2 € HKG oA & | T
URT T feom # 5 "l H Ehde gl dF Hf?

A. 36 IRaAT B. 48 IhAY C. 60 AT D. 45 mEraT E. 72 oY

15. U Alhr P GRT & TA Py A P, g I & T 96 HeIe odid &1 Py 3R J91% P, &
dr &1 gt 19.2 mRell §1 e i ureht #F At & fd ury A AT B Jolem F AR AT
HRIP &, Al URT & EWIT 5.2 8 F Al Ehcdell gl ad Haf?

A. 38.4 AT B. 41.6 mpaT C. 55.5 mpaT D. 60 ERaT E. 598 8 ®I5 gl

16. orr & arfd 12 mpefi/eer & 3R o aeh & &g & afd 20 ERl/ERT &1 Th g URT &
a1y fig X @ g Y a1 I & B0 Por 36 G BT FHI A § AR g Z W amw
3l & St fig X AR foig ¥ & \vw & &1 X 3R Y & &g & gy @ 2

A. 384 mA B. 396 mER&Y C. 352 mpat D. 288 AT E. 38 & P il

17. 9R1 & @1, a1 TR A 3R B g P @ U6 AT geld § omhd TR B g Q ds
UEadr &, ®IeR A § 2 °9¢ el 341 g 9% ugadr 1 afg Ng P 3R Q & dg b g
120 mhreft § 3R OrT & EOld TR B & aifd uRT & mwid TR A & aifd Hr g
& 3 mrel ufad der 3w § 3R 9rT & afd 2 meel gfq der &, ar Auld S F TR A
3R TR B &1 i @1 AT A1 DS ?

A. 21 oRaY Ufa ger B. 20 mrHAT ufad ger C. 23 mpaY ufa ger
D. 27 mpaT ufa ger E. 398 & ®I5 el




18. AIHEG @l (x + 40) BhAI URT & GIY HY 7% AT 3R (x - 40) EFAT URT & HOld H
FT 9T §AY 20 € &1 URT & 1Y Ifd URT & ET afd & 50% ke & Ife
ATHES QT Ulell 3 12 g & (x + 40) ERalY & ITAT X FhdT &, dl X P AT AT B

A. 140 B. 160 C. 180 D. 200 E. 240

19.  onid Ul arg & arfad AR ury & arfd @1 3equrT 7: 3 §1 A 2 6 F 9T & EHld 40
Ehel ST &1 70 mhall URT & @Y 3R 38 ¢l @ URT & HYNT dqqd I H 3¢ Ehclell
AT SIIM?

A. 4 ¢ 45 HAde B. 4 ¢ 55 MAde C. 4 G¢ 54 e D. 4 8¢ 40 Mdc E. 5d8 ¥ PIs g

20. ¥ TH AT B URT & HWIT 216 AT db Toldl & IR 9RT & 1 [ G ERE &
Pl 30 8¢ A W g0 Bl I ERAT| URT & A1Y A H a1fd A et & g Hr i @
20% F®F & AR URT & mET T 9RT & T AT B 66.67% & AT Tt H A1a &
T FAT &2

A. 21 opel/Eer B. 14 mpali/ger . C. 15 mrall/ger  D. 18 mpal/Eer  E. 38 & P el

21. 7& $ P BR W g A W T g & I el a4 & 38 IR Hod &g B W e
?-TI%FIT%IW@BWW%W%@A@F@aﬁuqmaﬁdqqd%er?rawam?ﬂ
QﬁWéﬂT%,ﬁWﬂﬁﬂ?umeﬂ?mlM@CWG@W%E’[%@B&?@W
del &1 fdg C @ a8 O @ Ul & & A& & garg &l egad fgam & 3ma oorar § 3R
Uh f8g D W Uggdr &1 D AR A & drg & gl 42 X § 3R A ot F A9 H& S
3R R &Y A 7: 3 F AU H §| A f S 74T R ?

A. 84 HAex B. 42 AX C. 49 #iex D. 77 #Hex E. 398 & ®I5 dA9l

22. dic-A id Ul # 12 mhel i € A aifd b @y v A A AR [N @ g w
P § 12 TS & dg, dic-B A dle-A @l Uz & MU 3 g & Torar q& FHAT|
ot aRT & mudd feem #F g W § 3R g & afd 2 mr ufa "er 1 de-B 6 mhelt
ds WIoT aRa & dIg diec-A & Udhsdr &1 die-B & afa m 2

A. 14 mrali/ger B. 17 mali/ger C. 20 mhal/ger D. 21 mpal/ger  E. 398 & IS a9l




23. wmﬁ%m%mvaﬁ%ﬁ%mﬁaﬁﬁwﬁﬁaﬁﬁgwuﬁaﬁ
€ TE F A AqOH AZ I & IR YT g TP UgTA F FV A4 F yAE F Eedd
T &1 GRT Y A W FHT A § AR A@ A A § ur qer b E| oA b oot
Wﬁ?m@ﬁﬁ%mmmmuﬁmﬁgzﬁmuéuﬁzfrHch AT TAN?

A. 10% B. 20% C. 30% D. 40% E. 38 4 PIs Aal

24. U A9 UH fdg @ TAAT YE A §, URT & HRIT IS gl T S & AR URT F @
U YR TUfT & Ty 4 g¢ # dledr €, 3R 9 & mEWia IEr & U B I
AT YRT & 1Y IIE7 & [0 T AT I 2 G ARG | I AT urelr & g 6 afa 4
Ehelt gfd ot o A 3T Dol gl Ehclen A2

A. 8 mRY B. 12 Op&T C. 15 mpaT D. 18 mraY E. 398 & ®I5 A9l

25. <rid urel A gr Arai A 3R B & a1fa sherer: 10 mrelt ufa ger 3R 14 mreft ufd ger & | v At A ama A
fiig-P X & 3R 1g B fg-Q W ¥| I Th HTY Uh-g@R A Tl o [T 3719 I& 91 § Si¥ [ AT
A URT & |1Y ST TG & STAER B URT & [EORI ST 6T &1 & HeeT € & e P 3R Q & #71%y g W
IeIa & | 9T & a1fa F1a Hifae:

A. 2 mrAY/Eer B. 4 mrAV/Eer C. 3aT 3UAitd & D. 6 Bpali/ger  E. 398 & &S a9

26. TS A A4 H YN b EHIOT 24 FR A gl ad S ¥ 3R unms Rig W dled we
g Afd HH B S ¥ AN 3H YR 38b ga URT A e F mEAr = §HI 3R
38 GINT UNT & MHUd 6 # R -7 §#4F A & Sfar &1 afg arr @ afa 3
AT Ufd ger A, af enid grelt 3 a1g & a1fd F Ehde AR AT 9 19 9RT & @ 3R
URT & fgem F S W@ A2

A. 3 mpAVEer B. 8 mp&AN/EET C. 3a1 3Uditd D. 6 Bpali/ger E. 398 & &S a9

27. U AIEE 15 6 F URT & HUT 48 mRI ST & 3R 3ue rand &g woaraw 3
St &1 afe g e & A & afa g fr afd F 66.66% 3k 1 IfE AT F had
15 8¢ & MU URT & EOd IJE1 & A, O I8 Udr &y B6 38 Ehcell gl ol ImEm &
grf?

A. 240 mRAT B. 225 mRaY C. 180 mraY D. 165 mER&AT E. 398 ¥ ®I5 el




28. g & afd R b WY AR URT & @Ol HAT: 30 ERAVEST 3R 18 ERA/ECT &1 URT &
Y (x + 40) B T gl IR URT & EIT (y + 60) EHell T gt T HA H o9Te arel
TAY 42 "¢ ¥ 3N 9N & mHRIT (x + 40) FRAT T gl N IR 9T b @Y (y + 60)
Epel T Q1 T A H ol aTell HAY 38 ©C T AT § URT b EHUT [(x + y)/2] Ehel
A g T B A A dTell AT A A TSFGH a1 AT arr & afd & 100/3%
H®P T

A. 16 ©¢ B. 21 ¢ C. 25 ©¢ D. 30 ¢ E. 36 ¢

29. TH A9 13 g¢ F URT & mERIT 204 mraY 3R 9T & 1Y 266 mHET ST &, 9 9RT &Y
af 2 ERl/ERT Bl §1 8 ©¢ & MU URT & HIY Sl dTell dd @Rl ad @l S drell gl
(EpdY H) @rar gl Sg 4T 6 afd 3 mRAEer gefr?

A. 340 B. 336 C. 312 D. 296 E. 398 & PIs Al

30. 2N Uret & A1 & aTfa) 8 AT T weT & 3 URT Y 91 2 Rt U TeT &1 A1 ves e gt g
A o U URT & FTY T T8 &, URT Y 717 2 Ehel Uy geT e S ¥, 31K ST a1a 10 HeTe
qﬁmﬁﬂwu%uéuﬁ%ﬂﬁm%mmﬁﬁa@ 15 Epell &, Ehdell ol ad
A & dIg URT HI I TGl I18?

A. 4.5 FRaAT B. 5.5 OpaAT C. 3 mpaY D. 4 GRaT E. 5 mpaT

31. uRT & @Y &l 3R =l @Ry &) & U AT gl dh RA & ©T T FHAT P 3T
$hAM: 3: 4 ¥ gl caRT 9T & ERIT U ARed gt ¥ e & mrr 3 AT Il
CART URT & WY 3l & gl dF A #A ©U 90 FAT § 50% 3RIb &1 Tl 3R @l f
TS B 3 T 7

A 7:6 B.5:7 C.7:5 D.6:7 E. 398 & ®I5 gl

32. @@ A & afd ama B f afd @ 2 mpAVEeT HH &l AT A GIRT ORI & @Y 20 EHAT &Y
¢l I B H BT I HHY AT B c@RT 3H gl Pl URT & HY T i & 1A drel
T ¥ 30 e 3R & Ife ary & afa ama A &r afa r v e &, ar a/a B &
afa & g2

A. 9 ErAE B. 8 mRAN/ECT C. 7 mrAEer D. 6 mErdAl/Eer E. 398 & &5 gl




33. T A 35 €l F 60 FREAT g U T W Sl & AR argw I &1 e g g@r 9
b AU 4 ERAT B gl dF HA HA I 9N & HERIT 3 FHeT B gl T i F FA
AT 91T &1 A7d Uil F arg & afa 3R arr & afa & itaa g Hifew?

A. 3 mRAV/Eer B. 1.5 pdl/ger  C. 2 mray/der D. 2.5 mpafi/ger  E. 398 & PIS el

34. A P URT & HIOT T ARTT gt a7 A F 10 9¢ &l FAY 91T &, SdEh URT &
WY HHAA gl B dF & H 6 € 40 AT o9 1 PAA: URT & EURIT g Hr afd
3R AT arel & A P AT B U 4T E?

A.5:3 B.3:5 C.5:4 D.4:5 E. 398 & g el

35. ord urelt F ara i afa x mReT / ger € 3R URT Y 1T y ERAT / TeT &1 A1 9 € H YURT & 1Y 52
[ERET 3R URT & EOI 35 EHeT AT g0 T Y Hehcll & | I AT 15 8¢ 3 GRT o6 EUI 63 [Ral 3R
T b A1Y 78 R Y g8 TF T Fehcll & AT Y T AT AT Y|

A. 13 mral/ger B. 10 mraY/ger C. 7 mrAYEer D. 6 mEraAl/EeT E. 398 & IS el

36. TP AR HABHE! ! Uehgel S [T il ¢ AR a8 6 € H e 40 EHST URT o ERIT AR 64
ERHT URT b TTY T T & | ST 3TeIaT, I8 11 e 3 80 HhalT URT & EULT 31K 96 ERaT IRT &
1Y IT B bl &1 T8 T fauiRa oY foraes arr uRT a8 W@ &2

A. 10 mraY/ger B. 21 mraY/ger C. 32 mral/ger D. 11 mral/Eer E. 38 & P el

37. arap 3R Q i aAfS FAA: 40 ERA/ECT 3T 'K ERA/EET &1 URT A 3T URT B H afY A 'y
[ERal/EeT 3R 20 ERSN/ECET ¥ AT P GaRT URT A 3 URT & [EUI 450 ERSAT & g8l o et F oI
Tl FAY 3R URT & AT HATA G T & H oI aTel FHY T 197 24 T § 3R AT Q GgRT URT
B 1 YRT < U 320 ERHAT Y g1 T &Y 3 #I9Tel aTell HHY 3i 320 BRHAT Y gl TF YA A el
qTl HAT HT AT 12 T & x + y BT AT ATT DITAT|

A. 90 mRAY/Eer B. 70 mraAY/ger C. 20 mraY/ger D. 15 mErAY/Eer E. 398 & ®I5 gl
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38. T ALY 2 FRAN/EET T AT F T W &1 AT A TG x & g v b ALY & Evey T W & 3N AT B
SACT o garTg i ferRm # Tdig v & feig X &l 30N el T@T &1 ATel TTelt & A1er A &Y 1Y 14 (EheT/EET ¥ 3R
ET F URT P EURIT ATAT A THT ATd A B 1T 3R URT & 1Y I A A AT B T a1f hr
3UTCT 3: 4 % | ATT A AR AT B 37U HRIT HIciT @ E Teledl & el & AEhel 4 TS 24 TAAC & dle
oATel B 3 Teheiieh! HHAEAT b BRUT SHT Il 25% P & S & | A alel Y& & 6 TS F Teh-ga &
UR &Il &, dl X 3R Y & <frer &hr gd &bt adT ofamd |

A. 161.6 FpraY B. 178.2 mRaT C. 164.4 FpaY D. 171.8 @paY E. 398 & ®I5 gl

39. U A H &Y g3t & e Y gt D ERall & | URT b AT AT AT dTel Tl &l Ul el & [ URT
o Y 7T & IS g8 el &I T 30 T[T & 3R ST 3HA URT & U AT TATAT L& ERAT AT 38A
ST g0t 9T & EUdT T A A Pl g0 A IR T[A & | URT & ERSY FAT IAT el HAT IRT 5
Y 7T T HHAY { 10% AR & | TS AT 9 T 3 URT b |IY 135 ERAT T g 7 Il &1 YR
i AT R?

A. 3 mRAEer B. 3.25 mpafi/ger  C. 3.5 mrafi/ger D. 2.5 mhAl/ger E. 3dH A PSS el

40. U g A 80 EHE URT UaTE &b ERCY R DAY 200 EHel URT Uarg & FIY IET Al H
13 ©¢ &l AT TN &1 URT AT AT 9RT UdTE & EXCY 4 ThAVE AR 9N gdre &
Y 5 FRAEST &1 AT Ul # 7 9 HF AT Bl gl dF B bl & ?

A. 147 BT B. 105 mERaAT C. 210 Ep&AY D. 140 mra E. 331 & P15 Al

41. i Tt 3 A 3R B &Y I T 3TUT 5: 7 &1 Iie A 3R B all Teh &1 foig & vep |1y & &t & 3R
YRT UdTE & HIY ATAT B &, dl 3eTeh e 4 G¢ H 24 BRAT 1 g1 8 STl | 3R & i el 3 Tep &
faig & Teh T ORI feRm 3 I hd @ Al 6 € & dTe; Seteh ol hr gl Far g1 ?

A. 216 @RaAT B. 180 mRaAT C. 240 mhraT D. 210 mhraT E. 38 & ®Is Al

42. U AT 288 FRAT URT UaATE & AT 3R 352 FHelt IRT UaTe & [HIGY 34 T F 1 & | 97 &7 71fq,
QI UTeAT & Tl &Y 11T BT 20% & | AT AT UTeAT 3 8 TS 3 [Evctedl g1 ehl o haf?

A. 168 Op&AT B. 160 mERaY C. 144 mraY D. 176 mRHAT E. 598 & IS gl

43. id STl # A dic H afd 35 ERef/Eer | IT URT & EESY 180 IRl I H 6 €T
T ¥ §AE gl aIHE 3 H HT S @l oFld dlell AT IdA1ST|

A. 35 g¢ B. 2.5 ©¢ C. 4 §¢ D. 45 ©¢ E. 398 & ®I5 gl




44. UF A 46 TRl BT gl dF AT ¥ AR 11 ©¢ 30 Hec H arag SE T W I ST
S| 3T UTAT OF Ig U & TAT A URT & 1Y 5 e I FhdT & 3R URT & 0geh 4
ERAT Tl b &l dl URT &I arer a1 8Ol |

A. 0.6 Opdl/Eer B. 0.7 Bpal/ger C. 0.8 mhal/ger  D. 0.9 mrafi/ger  E. 398 & PIS el

45. 21 #HeEe A 3R B & Teh HIY Teh-g@ i 3R A foig X 3R feig v & 9RT & HOlid 3R 4Ry &
TTY T HIAT Y& ERAT 3R 15 € H Th-g@ & el | AT UTell & Hledle A &1 a1fd i ar=lr &
Arexdic B &Y 1Y &Y rafeht ¥ feig x 3 foig v & frer o g &/ @2 (g T aran § o6 it arelt
Areare A Y 1fa 311 g arelt & Areaie B 6 arfa & " &1 37T 15 Rt ufd ger ®)

A. 630 Ep&AT B. 650 ERaY C. 675 T D. 700 mRHAT E. 398 & ®I5 gl

46. YT URT & MEWIT 20 DRAV/EEr &1 afd ¥ 3R URT & @Y 24 ERA/ERT T afa F A
ToAT Fball &1 AT arelr & T & arg i afa 3tk g & afa & 3aa g Hifsw|

A. 11 mErdA/gEer B. 14 mraAY/der C. 16 mrdAY/ger D. 12 mEral/ger E. 18 mral/ger

47. TUH A 30 EpelT 9T b FY 3 G 45 e H 3R 11 et 9RT & EUT 2 ' 12
e & ATd Tl Fbhdl &1 AT Uit F e & a1fd 3R g & afad F &=r 35w &2

A. 6 mAYLT B. 8 mpAY/EeT C. 5 mpAy/der D. 7 mpAY/Eer E. 4.5 mpaV/Eer

48. TH A TTTH P ¥ Q dob 4 THAY / el fT i A U d85dT & 3T o a1 A 3R B
R P AR Q g3l @ veh q@y &1 3R Ir=r o @ EI A Ul H A A H I i
U & A B & afd & 10 mhlt da € AR fug P 3R g Q & &g & gt 259 mhel &
Il Teh & HHT H YE Bl § AR A B fig Q & 133 mhell ¥ A1a A @ eIl §1 Sl
ATd GaRT Teh g@} ¥ [Hold &l HAY <Al Bl |

A. 35 ®¢ B. 4 ¢ C. 25 9¢ D. 3 ¢ E. 5 g¢

49. TUH A9 YRT & EURT 36 e F 9.6 EhAT A IET & by &1 Ig 9T & a1fg 9T &
mERT g H afd &1 20% &, dF T B 24.64 ORI URT F Y Todd A Ehddl GHI
Aa?

A. 1.5 gc B. 1.2 §¢ C. 24 e D. 1.1 T¢ E. 3.2 g¢




50. e Ta Y g A & fiig B e ST #H 3R a0 faig A W olle & 31 # 9 T &1 FHI ST &1 AT
Tl 3 A1er <hY 1T 8 AT / TeT & 3TN URT b1 17t 4 ERaAT / TeT &1 A 3R B & &fier b1 gl =Tt hiferdr?

A. 18 mRaY B. 27 HhaT C. 36 Epar D. 45 mRal E. 59 ¥ PIS &l
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CORRECT ANSWERS:

1 A 11 B 21 C 31 C 41 A
2 D 12 A 22 B 32 B 42 B
3 A 13 A 23 D 33 C 43 D
4 B 14 C 24 B 34 D 44 D
5 B 15 B 25 A 35 E 45 C
6 A 16 A 26 D 36 D 46 D
7 D 17 C 27 E 37 B 47 C
8 C 18 D 28 C 38 A 48 A
9 D 19 C 29 C 39 E 49 D
10 B 20 C 30 E 40 D 50 B
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Explanations:

1.

Let the speed of boat in still water and speed of stream be 5x and 2x respectively.
According to the question,

224
—=5x+2
4 X X

Required difference = 5x — 2x = 3x
3x =24 km/hr

Hence, option A is correct.

Let the speed of boat in still water be s m/sec

As the object covers 100m in 50 sec, so the distance travelled by the object will be with the help of the
speed of the stream only.

100
Speed of stream = o0 - 2m/s

Given that,
(s—=2)=(s+2)-50(s+2)/100

(s=2)=(s+2)(1-1/2)

s =6 m/sec
6x18 108
s= 5 = km/hr
5 5

Distance covered by the boat in still water in 5 hours

5
=108 x §=108km

Hence, option D is correct.




. 12000
In still water, the speed of steamer = EYE

=480 meter per minute = 8 meters per second
Let the speed of stream =v m/sec

In upstream, the speed of steamer = (8 — v) m/sec
In downstream, the speed of steamer = (8 + v) m/sec

According to the question,
11250 _ 11250
8-v 8+v

=12.5 x 60 = 750 seconds

By solving, v = 2 meters per second

2x1
= XS 8 = 7.2 km per hour

Hence, option A is correct.

Starting point
A

Starting «—A | B—

After 3 hrs A — B—

«— (3(3k=c) + 3(2k+c)) —»

Let the speed of current be = ¢ km/hr
Let the speeds of A and B in still water be 3k km/hr and 2k km/hr

Upstream speed of A = (3k — ¢) km/hr
Downstream speed of B = (2k + ¢) km/hr

Distance between A and B after 3 hrs = [3 (3k —¢) + 3 (2k + ¢)] km = (9k — 3¢ + 6k + 3c) km = 15k km

After stream becomes stationary
Relative speed when both go in same direction = (3k — 2k) km/hr = k km/hr

Time after which they meet = 15 k/ k = 15 hrs

Hence, option B is correct.




5. Let the distance be D and Speed of boat in still water be 3B and that of current be C
D D

+
3B+C 3B-C

=144 ... eq.(i)

When the speed of the boat becomes 66.67% — new boat speed = 2B
D D

+
2B+C 2B-C

=224 ... eq.(ii)

Dividing eq. (i) by eq. (ii)

6B
(38+C)(3B-C) 144
4B T 224

(2B +C) (2B—C)

6x(48°-C°) 9

4x(9B°-C%) 14

w

3B _
-

=)

The ratio of speed of boat and currentin6:1
Hence, option B is correct.

6. Let the speed of boy in still water be X km/h
And the speed of current is given =5 km/h

Downstream speed = (X + 5) km/h
Upstream speed = (X — 5) km/h

Let time be ‘t’ hours.
X+5)t

= X+5)t = (X-5)t

3

= X+5=3X-15

= 2X=20

= X =10 km/h

Downstream speed = 10 + 5 = 15 km/h

Upstream speed =10-5 =5 km/h

Hence, option A is correct.




Let speed of man in still water = x km/h
Speed of current =y km/h
Downstream speed = (x +y) km/h
Upstream speed = (x —y) km/h

Let PQ=QR=Aand PR=2A

So,

2A
—=24andi=16
X+y X—y

By dividing both equations-
2A (x—y) _24
Ax+y) 16

= 4x -4y =3x + 3y

< I x
N

Required ratio = Speed of man in still water : Speed of current =7 : 1

Hence, option D is correct.

Upstream, U = Speed of boat — speed of stream

Downstream, D = Speed of boat + speed of stream

65 130
—+—=23
u D
ﬁ+@=17
u D

On solving the above two equations, we will get

U = Speed of boat — speed of stream =5
D = Speed of boat + speed of stream = 13

Thus, Speed of boat = 9 and speed of stream =4

Hence, option Cis correct.




10.

Let the speed of boat in upstream = 8x km/hr
And the speed of the stream = x km/hr

500
Speed of boat in downstream = >0 - 25 km/hr

Let the speed of boat in still water = p km/hr
Then, p + x = 25 km/hr .......... (i)
P—X=8X,pP=9% errrernne (ii)

Put the value of p in the equation (i)
10x =25,x=2.5

From the equation (ii) speed of boat in still water =9x =9 x 2.5 =22.5 km/hr
The total distance travelled by the boat in still water in 20 hours = 450 km

Hence, option D is correct.

Let the speed of boat = b and current=c

Speed downstream = b + ¢, Speed upstream =b —c
Let the distance boat goes upstream = 2d and returns downstream is d
Sdown  d « Tup

Sup Tdown 2d

- G (o

Sdown=b+c,Sup=b-c

(b+c) 9

(b—c) 5

b_14
c 4

c=4km/hso, b=14 km/h

Speed down =14 + 4 = 18 km/h, Speed up = 14 -4 =10 km/h
Distance covered =18 x 6 + 10 x 8 = 188 km

Hence, option B is correct.




11.

12.

13.

Let the stream speed be r kmph.

Since the distance between P and Q is constant, we have the below equation according to the given
information

(12-r) 5
(10+r)” 6
r=2

In return trip, speed of A=10-2 =8 kmph
Speed of B=12 + 2 = 14 kmph
Ratio of time taken by AtoB=14:8=7:4

Hence, option B is correct.

Let the still water speed of boat = b km/h

360 360 _
(b+3) (b-3)

35

b=21
Distance covered by boat in still water in 6 hours =6 x 21 =126 km

Hence, option A is correct.

Let the length between P and Q be PQ km, and the speed of river’s current is ‘v’ kmph and that of
streamer in still water is ‘u’ kmph.

Then, we have PQ =1 hour and PQ ==
Y (u=v) 2

Divide these expressions to get

u=20r3v=uor$=3

Thus ratiois 3 : 1.

Hence, option A is correct.




14.

15.

Sb = Speed of boat in still water, Sc = speed of current

Time downstream
Time upstream

_2
"3

Sdown 3
So, ==
Sup 2

Sdown Sb+Sc 3

Sup Sb-Sc 2

Sb

Sc 1

Let the still water speed of boat = 5k

If the still water speed decreases by 40% it becomes 3k

As the speed decreases in the ratio 5 : 3, So time taken will increase in the ratio 3 : 5

Let the original time be 3t and new be 5t > 5t —3t =2t =2 hrs

So, original time = 3t = 3hrs for distance of 30km
30

So speed in still water 5k = 3 10 km/h

Sc =1k =2 km/h

Downstream speed = 12 km/h
Distance covered in 5 hrs =12 x 5 =60 km

Hence, option Cis correct.

Let the speed of the stream be 'M' km/h

Speed of the ferry in still water = (4M + M) = 5M km/h
Downstream speed = (5M + M) = 6M km/h

Upstream speed = (5M — M) = 4M km/h

Acc. to the question,

96
19.2 = 6M x =

* 60
19.2=9.6M
M =2 km/h

Upstream speed =4M =4 x 2 =8 km/h
Distance travelled = 5.2 x 8 =41.6 km

Hence, option B is correct.




16.

17.

Let the distance between X and Y is m km.
Speed of boat in upstream =20 - 12 = 8 kmph
Speed of boat in downstream =20 + 12 = 32 kmph

It takes 36 hours to complete the path.

m 1
32+2x8 36
m m
RETRETRES
3m

>—=36
32

L o 36%32

-3
= m =384 km

Hence, option A is correct.

Let the speed of steamer A in still water = a km per hour and the speed of steamer B in still water = b
km per hour

The speed of stream = 2 km per hour

Then, according to the question, (b—-2)—-(a—2)=b-a=3
In downstream, the speed of steamerA=a+2=b—-3+2=b—-1km per hour

The speed of steamer B=b + 2 km per hour
Then, according to the question,

120 _ 120
b-1 b+2

=2

By solving, b = 13 km per hour
Therefore, the speed of steamer A in still water =13 — 3 = 10 km per hour
The required sum =10 + 13 = 23 km per hour

Hence, option Cis correct.




Let, the speed of boatman in still water and stream speed = ‘B’ km/hr and ‘s’ km/hr respectively
According to the question,

(B+s)=1.5(B-5)

2.5s=0.5B
B =5s
Xx+40 x-40
Also, + =20
>0 B+s B-s

(x+40)(B—s)+(x—40)(B+s)=20(B+5s)(B—5s)
B=>5s
(x +40) (4s) + (x — 40) (6s) = 20 (65) (4s)

+
Also, 3 B4O =12

X + 40 = 60s

(x + 40) (x+40)+(x—40) (x +40) 8 (x+40) (x +40)
15 10 - 60

4(x + 40)* + 6 (x — 40) (x + 40) = 8 (x + 40)?
6 (x —40) (x + 40) = 4 (x + 40)?
3x—120=2x+80

3x—2x=120+80

x = 200

Hence, option D is correct.
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19.

0w |m
I

20.

Let speed of Boat in still water = B, and speed of stream =S

Wi

on)
+
(]
~N
+
w

W
|
(%)
~N
|
w

Downstream 10

Upstream T

Aman goes upstream 40 km in 2 hrs, Upstream speed

= 42—0 =20km/h

2030 _ oy m/h

Downstream speed =

Time for 70km upstream and 70 km downstream

70 70 14+35 .
_50+20— 10 = 4hrs. 54min

Hence, option C is correct.

Let speed of boat in still water = 100k km/hr

Then downstream speed = 120k km/hr and upstream speed = 80k km/hr

216 216

= 4+=2=30

120k 80k

Speed of boat in still water = 15 km/h

Hence, option C is correct.
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21.

22.

B C
F. 5
P
AR
FAR Y
! %
I ,
! %,
I x
! %,
I %,
! %
s \x
4 21m by
- 1"-.
A E D
42m

As we can see in the diagram if AD =42 m then AE=21m
Ratio of boat in still water: speed of current=7:3

The distance in the direction of the river is due to speed of current only and the distance in
perpendicular direction of river flow is due to speed of boat only.

So, we can say that distance AB and BC will be in the same ratio as speed of boat and current.

Therefore AB:BC=7:3
AndasBC=21m,AB=49m

Hence, option Cis correct.

Time taken by boat A to cover distance 6 km

6
—12_2—0.6 hour

Boat B starts chasing boat-A after 12 minutes
12
= 0 hours = 0.2 hours,
means, boat-B has travelled 0.2 hours less than boat-A, therefore

if speed of boat-B is v kmph, then

Time taken by boat B to cover distance 6 km

6
=——=(0.6-0.2) hour = 0.4 hour
v—2

04(v-2)=6
0.4v=6.8
v=17

Speed of boat B is 17 kmph.
Hence, option B is correct.




23.

Let the speed of the boat be ‘5b’ kmph and that of the stream be ‘b’ kmph, and the distance it travels
in one direction is ‘y’, then

while going downstream, we have

y _40_2
(5b+b) 60 31U
vy _2
b - 3hours ...... (i)

Now, it increases the speed of the boat by $%, then the new speed while returning back would be
S

Too) 5b kmph

=(1+

We now can write
y _40
{(1+S/100)5b—-b} 60

Equating (i) and (ii), we get
y _y
(1+S/100)5b—b)  6b

6by=yb{(1+ %)5—1}

S=40%

Option (D) is correct.




Let the total distance was 2y km and the speed of the stream was v kmph.

If the time to go upstream was t hours then time to go downstream = (4 —t) hours

It is given that time to go upstream was 2 hours more than time to go downstream, so
(4-t)+2=t

t =3 hours

Now, time to go upstream

B upstream distance
(boat speed — stream speed)

__ Y
(4-v)

3

12 -3v=y (i)
time to go downstream

____downstream distance
" (boat speed + stream speed)

__ Y
_(4+v)

1

4 +v=y-—(ii)

Solving equation (i) & (ii) we get
y=6

Total distance =2y =2x6=12 km

Hence, option B is correct.

www.smartkeeda.com | testzone.smartkeeda.com o
SBI|RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RS

Join us



https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/

25.

Smart Approach:-

We can see in the question that both meet at mid point i.e they travel for equal distance and in the
guestion it is mentioned that they travel for equal time as well.

So we can say that downstream speed of A = upstream speed of B
or,10+v=14-v

or,v=2

Hence option A is correct.

Traditional Approach:-

Let the speed of the stream be v kmph, then

Speed of boat A in the river = (10 + v) kmph

Speed of boat B in the river = (14 — v) kmph

Both meet at the midpoint, let the distance between P and Q is ‘2d km’, so distance that each of the
boat travelled = d km

Time the boat A took would be t, = hours

10+v

Time the boat B took would be tg = hours

14 -v
But ta = tg, SO we have

d d
14-v 10+v

(10+v)=(14-v)
2v=4
v =2 kmph

Hence, option A is correct.
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26.

27.

Let the speed of the boat in still water be ‘v’ kmph when going upstream and ‘u’ kmph while it goes
downstream, then

Upstream speed in the river = (v — 3) kmph
Downstream speed in the river = (u + 3) kmph

These two speeds must be equal since the boat took equal time and travelled equal distance in both
the cases, thus

v—-3=u+3
Vv—-u=6

Hence, option D is correct.

the speed of the boat in still water is 66.66% more than that of the speed of stream
Let the speed of stream = x km/hr

Then speed of the boat will become = 166.66% of x

5x
=—km/h
3 m/hr
. 5x X .
Speed in upstream = 3 XT3 km/hr ......... (i)
5 8
Speed in downstream = ?X +X= ?ka/hr ......... (ii)

According to question,

48 48
_+_ =
2 8x 15hrs

3 3

By solving this,

X=6

From the equation (i)

6
Speed of upstream = 2 x 3" 4km/hr

The total distance travelled by him in upstream in 15 hrs =15 x4 = 60 km
Hence, option E is correct.




28.

Let, the boat’s speed and stream’s speed be B km/hr and s km/hr
B +s=30km/hr

B—-s=18 km/hr

Adding both the equations, we get,

30+18
2

=B= =24 km/hr

Also, s=30-24 =6 km/hr

According to question,

x+40 y+60

30 T X

3x+120 + 5y + 300 _
90 -

42
3x + 5y = 3360

x+40+y+60
18 30

Also, =38

5x+200+3y+180

38
90

5x + 3y = 3040
So, from
3x + 5y = 3360 and 5x + 3y = 3040, we get

x=320and y =480

320 + 480
2 400
Therefore, reqd. time = =16 - 25 hours
24 - 6 X 5

Hence, option Cis correct.




29. Let the speed of boat in still water = B km/hr

204 266
U8 L2050
B-2 B+2 13

B=36

Required distance = (36 + 3) x 8 =312 km

Hence, option Cis correct.

30. Initial speed of the boat downstream = 8 + 2 = 10 kmph.
Let after travelling a distance of 'd' the speed of the stream increased by 2 kmph.
Now the speed of the boat downstream =8 + 4 =12 kmph
According to the question,

d 15-d 1 15
—t ==
10 12 6 10

:d(i_i _15 £+1)
10 12/ 10 ‘12 6

6-5 15 15+2
Sqd2 B )
60 10 12

:>d 3 17 _18-17
60 2 12 12

Hence, option (E) is correct.
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31.

32.

Let, speed of Hunny by a, speed of Bunny be b and speed of stream be r
According to question

Also. For distance D1.
D1 3 D1

b-r =; b+r)

Or,2b+2r=3b—3r
Or, b =5r

Putting this in (i)

6r 3

a+r 4

Or, 3a + 3r = 24r

Or,a=7r

Ratio of their speed=7r:5r=7:5
Hence, option (C) is correct.

Let speed of Boat B = x kmph and speed of boat A = (x — 2) kmph
-2
So, speed of current = (XT)kmph

Now according to the question

20 __2 30
x—2  x—=2 60

-2)+ +

(x=2) 3 Xt3

20x3 20x3 1

= +
3X—6+x—2 3x+x-—-2 2

60 3 6
4x -8 4x-2

o

N

15 30

Xx—2 2x-1

1
2

30x—15-30x + 60

1
(x=2)(2x+1) 2
2x*—5x—88=0

_1n

=8,
X 2

So, speed of boat B is 8 kmph
Hence, option (B) is correct.




33.

34.

If it goes 4 km downstream in x hours

4
Downstream speed = M

Upstream speed =

X |w

60 60
Then,—+—=35
en,i 3

X X

3x+4x_

=60 =35
12

7x
= 60x—=35
“12

= X=1km

Then downstream speed = 4 km/h
Upstream speed = 3 km/h

4+3

Speed in still water=U = =3.5km/h

4-3
Speed in stream =V = — 0.5 km/h

3.5+0.5
Required average = BT 2 km/h

Hence, option (C) is correct.

Let the speed of the boat in still water = x km/h
And the speed of the stream =y km/h

According to the question

(x—y)><10=(x+y)><(6+g)

20
= (x=y)x10=(x+y) x=

= 3x—3y=2x+ 2y
= x =5y

Hence, option D is correct.




Downstream speed of boat = x + y kmph
Upstream speed of boat = x —y kmph
According to the question,

52 35
=—

= =9
X+y X-—y

1 1
Let——=aand——=b
X+

So the equation becomes,
52a+35b=9
52a=9-35b

9-35b
52

a=

Also given that

78 63
+

X4y X—y

=15

So, 78a + 63y =15

78 (9-35b)
- 52

+63b =15

702 —2730b + 3276b =780

546b = 78
1
b==
7

1
a_9—35(;)_i
© 52 13

So,x+y=13andx—-y=7
So,x=10andy=3
So, the value of y = 3 kmph

Hence, option E is correct.




36.

Let a be the speed of fisherman
Let b be the speed of stream
Upstream speed=a—b
Downstream speed=a+b
According to the question,

40 64 80 96
——= —— =11
a—b+a+b 6a|m‘a—b+3+b

1 1
Let——=xand ——=

a-b a+b
Therefore,
40x + 64y =6
80x +96y =11

On solving, we get,

Soa—-b=10anda+b=32
On solving, we get
a=2landb=11

Hence, option D is correct.
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37. According to the question,
For boat P

450 450
+———=24
40+y 40—y

80 24
1600 —y* ~ 450

1600 — y* = 1500
100 =y*; y = 10km/hr

For Boat Q,

320 N 320
x+20 x-20

=12

2x 12
x> =400 320

3x* —160x — 1200 = 0

On solving, we get

x =60 km/hr
So,x+y=60+10=70km/hr

Hence, option B is correct.

38. Speed of river = 2 km/hr
Speed of boat A in still water = 14 km/hr

Since, boat A is travelling against the river

So, speed of boat A while moving upstream is (14 —2) = 12 km/hr
. . 4
Speed of boat B while going downstream = 3 x 12 =16 km/hr

So, relative speed = 16 + 12 = 28 km/hr
Hence, distance between XandY=28x4.4+(12+0.75x16) x (6 —4.4)=123.2+ 24 x 1.6 =161.6 km

Hence, option A is correct.




39.

40.

4].

Let x and y be the speed of boat and stream respectively
Given,

135
X+y

Xx+y=15
Also,

1.10x30 4
X+y  X-y

33(x—y)=4(x+y)
As, x +y =15

So,

33(x—y)=4x15

x—y =60/33

On solving, we get, y = 145/22 km/hr = 6.59 km/hr

Hence, option E is correct.

Let the speed of boat in still water be B km/h
80/(B—4)+200/(B+5)=13

Solving we get B = 20

Distance covered in 7 hrs in still water = 20 x 7 = 140km

Hence, option D is correct.

Let the speed of A =5k and B =7k and current =C

Distance between them after 4 hrs = [(7k + C) — (5k + C)] x4 =8k = 24

k=3

Required distance between them after 6 hours =6 x (7k + 5k) =6 x 12 x 3 =216 km

Hence, option A is correct.




42.

43.

44.

Let speed of boat = 5k, so speed of current = k

288 352
6k 4k =34

k=4

S=20km/h

Distance covered in 8hrs in still water =20 x 8 = 160 km
Hence, option B is correct.

Let the speed of stream = x km/hr

The speed of the motorboat in upstream = (35 — x) km/hr
We know that distance = speed x time

180=(35-x)x6

By solving, x =5 km/hr

While returning the motorboat will go in downstream

The speed of the motorboat in downstream = (35 + 5) km/hr

180
The required time taken =——=4.5 hours

Hence, option D is correct.

Let the downstream speed be u km/hr and upstream speed be v km/hr

Hence, option D is correct.




45.

46.

Let the speed of the motorboat B in still water = u km per hr then according to the question, the speed
of the motorboat A in still water = 2u km per hour and let the speed of the stream = v km per hour

And, 2u—u =15 km/hr
u =15 km per hour

When motorboat A and B travel towards each other then the relative speed = (2u—v) + (u + v) = 3u km
per hour

We know that, Distance = speed x time = 3u x 15 = 45u km
Put the value of u = 15 then the total distance = 45 x 15 = 675 km

Hence, option Cis correct.

Upstream speed = S, and Downstream = Sy

Speed of boat Sy, = @

Speed of current = @

20+ 24

Sp = =22 km/hr

24 -20

Ss = =2 km/hr

24
Average = 5= 12 km/hr

Hence, option D is correct.

www.smartkeeda.com | testzone.smartkeeda.com U

SBI|RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RIS o
oln us



https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/

47.

48.

Let the speed of man in still water be x km/h and speed of water be y km/h.

15

3 hours 45 minutes = Z hours
. 11

2 hours 12 minutes = ? hours

Speed downstream =x+y = % =8 km/h

11
Speed upstream =x—y = m =5km/h

Solving the above two equations we get x=6.5andy = 1.5
Required difference =6.5-1.5=5

Hence, option C is correct.

Let, the speed of boat B = ‘x’ km/h

Then, the speed of boat A = (x — 10) km/h

o, 126 _133
"x—10+4 x—4

126 133

X—6 x—4

126x—504 = 133x — 798
133x—126x =798 — 504

7x=294 ;x=42

133
Reqd. time = o4 3.5 hours

Hence, option A is correct.




49.

50.

9.6
Speed of upstream = 36 km/min = 16 km/hr

Speed of current = 20% of 16 = 3.2 km/hr
Let the speed of man in still water = x

Speed of upstream = speed of boat in still water — speed of current

16 =x-3.2
x =19.2 km/hr

o 24.64
Reqd. time in downstream = 19.2+3.2

24.64
24 - 1.1 hours.

Hence, option D is correct.

We know that
Distance

(speed of the boat)® — (speed of the stream)?
(2 x speed of the boat)

= time taken x

=d=27km

Hence, option (B) is correct.
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